
Do you know??? 
Test your knowledge of climate 
change and how it affects the 

community of Shoreline. 



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: What community 

activities produce 

the most 

greenhouse gas 

emissions in 

Shoreline?  



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: What community 

activities produce 

the most 

greenhouse gas 

emissions in 

Shoreline?  A: Transportation 

(55%) and 

residential energy 

use (31%).  



5ƻ ȅƻǳ ƪƴƻǿΧ 
Q: What is the 

municipal 

government of  

Shorelineõs biggest 

source of  

greenhouse gas 

emissions?  



5ƻ ȅƻǳ ƪƴƻǿΧ 
Q: What is the 

municipal 

government of  

Shorelineõs biggest 

source of  

greenhouse gas 

emissions?  

A: Electricity for 

streetlights and 

signals  

(36% of  total 

emissions).  



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: How much did the 

installation of  LED 

streetlights reduce 

the Cityõs energy 

use and emissions?  



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: How much did the 

installation of  LED 

streetlights reduce 

the Cityõs energy 

use and emissions?  A: Energy usage 

decreased 12% 
and emissions 

decreased 21%. 



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: What is the 

current 

concentration of  

carbon dioxide in 

the atmosphere?  



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: What is the 

current 

concentration of  

carbon dioxide in 

the atmosphere?  

A: 400  ppm. 

Thatõs up from 

350  ppm in 1986, 

and at a level that 

scientists believe 

portends large 

changes in the 

climate and sea 

level.  
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5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: How much has 

the global sea level 

risen over the last 

150 years?  



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: How much has 

the global sea level 

risen over the last 

150 years?  
A: 8 inches , and 

is projected to rise 

another 1-4 feet 
by 2100.  



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: How many trees 

does it take to offset 

the annual 

emissions of  each 

Shoreline resident?  



5ƻ ȅƻǳ ƪƴƻǿΧ 

A: It takes 36  trees 

to sequester the 

annual emissions 

of  each Shoreline 

resident.  

Q: How many trees 

does it take to offset 

the annual 

emissions of  each 

Shoreline resident?  



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: Have greenhouse 

gas emissions from 

the community of  

Shoreline increased 

or decreased since 

2009?  



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: Have greenhouse 

gas emissions from 

the community of  

Shoreline increased 

or decreased since 

2009?  

A: Decreased ð by 

4%. Thatõs a 
reduction 

equivalent to 

19,000 acres of  

forest grown for a 

year.  



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: Which facility in 

Shoreline emits the 

most greenhouse 

gases?  



5ƻ ȅƻǳ ƪƴƻǿΧ 

Q: Which facility is 

responsible for the 

largest portion of  

the Cityõs carbon 

footprint?  
A: The Shoreline 

Pool is responsible 

for 28% of  the 

Cityõs total 

municipal 

emissions.  


